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(4) Wmmmmmmmwmmaﬂa
m.mﬁewaﬂmmmwhmza@amaﬁgﬁmﬁﬁaam

. 6 \ . 0 10l6)
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ST, DOOD
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FHTdaTE! el ST, |

(15)@WW&HWWWW@%{&WW%WWW
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SECTION-1

Q.1 to Q.3 : Read the passage carefully and answer the following questions.

A crow was very thirsty. It flew to a garden in search of water. There was a

pot having a litle water in it. So the crow put pebbles into the pot. The water rose
up. The crow drank it and flew away.

1. Who was very thirsty?
(D cow (2) crow
(3) parrot @) fox
2. Select the correct option and complete the sentence.
The crow flew to a ........... in search of water.
(1) Garden (2) Well
(3) House 4) School
3. What did the crow put into the pot?
(1) Leaves (2) Sticks
(3) Pebbles (4) Money
4. If dogs: bark
then bears:
(1) Snore (2) Squawk
(3) Squeal (4) Screech
SPACE FOR ROUGH WORK
0102/ Marathi Set-A 20f 32 P.T.O.

5. Select the correct option and solve the puzzle.

[tfufrcfe]l
1]
| € |
p
o] [e
@ ]
n u
_H 1 |
T |
1 |
e
1
I k1,0 (2) m, g b
3 Ls,j 4) e, h, s

6. Select the correct alternative and fill in the box.

(1) East west

(2) South

Directions

(3) South east

(4) South west
7. Select the correct option and complete the sentence.

I will give it back to you ........cevvnen.e..

(1) Yesterday (2) Last week

(3) Tomeorrow (4) Long long ago

Hel HWTEGT Tad
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8. Choose the correct request from the
My friend forgot his pen.

He said, "..oiiniiiiiiiiiiiiin
(1) Please give me your pen. (2) He gave me his pen.
(3) I brought your pen. (4) Can I give my pen to you?

9. Select the correct option.
We should cover our mouth when
WE Lesinssonesss

{1) Share (2) Crawl (3) Sneeze (4) Climb

10. Look at the given picture and choose the correct conversation.

(1) A : Give me tomatoes.
B : Where's you bag?
(2) A : Do you like roasted corn cobs?
B : Oh! I love them.
(3) A : Hello uncle can you deliver the box today?
B : Sure.
(4) A : Have you tried these cakes?
B : This is a new cake shop.

SPACE FOR ROUGH WORK
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11.

12.

13.

14.

15.

16.

Select the correct option.
Keep your hands on your ............

(1) waste (2) west

(3) wait (4) waist

Find the odd pair.
(1) August September (2) October .November

(3) April May (4) June August

Find out the odd term
(1) Thigh (2) Deer
(3) Thieves (4) Oxen

Select the correct option and complete the sentence.

] (], T, P——— eat fruits.

(1) doesnt (2) doesn't

(3) does'nt (4) doesnt’
Select the correct option and complete the sentence.
We g0 by .....c.ceevneenn... Auto-rickshaw

(N A (2) The

(3) An (4) No article

Find the odd group
(1) king, ring, thing, sing (2) tall, fall, ball, call

(3) keep, peep, sheep, jeep (4) get, wet, not, let

woT FIEGT Tad
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17.

I8.

19.

Select the cormrect punctuation mark for the given sentence.
Does she go o school
(D Full ~op (2) Comma
(3} Question mark (4) Capitalization
.'.lll...'l'...
Maha Sale
Sari and Kurti
Offer- Buy 1 Get 3
Rs. 1000/- only

The special offer is .
{1y} Buv one get one
(2) Buy one get two
(3} Buy one get three

;4

{4) Buy one get four

Choose the correct sentence showing proper position of a comma.
(1y Master Master have, pity. on me.
(2) Master Master have, pity on, me.
(3) Master, Master, have pity on me.

(3) Master Master have pity, on me.

Solve the nddle.

I use scissors. | use a needle
and thread. 1 make clothes
from cloth. Who am I ?

{1) Tailor (2) Potter (3) Cobbler (4) Jeweller

SPACE FOR ROUGH WORK
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Find out the correct word to complete the given diagram.

(1) Run
P
) beautifully [ neatly |
(2) Write -
(3) Eat
carefully
(4) Sleep :

Where should be the exclamation mark in the given sentence?
Select the correct option.
Good morning Kondiba

(1) after morning (2) after good

(3) before Kondiba (4) after Kondiba

Choose the correct option.

7m=u. Many Happy Returns Of The Day !

This message is about.................

(1) Wedding (2) New year

(3) Birthday (4) Journey
Select the correct alternative

As yellow as ......... =

() Dawn (2) Rain
(3) Turmeric (4) Honey

Find the odd group.
(1) cement, city, circus, centre (2) group, good. gate. ground

(3) brown, bucket, black, brinjal (4) kite, kangaroo. know. King

AT HINEGET wad
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|ABCDE UVWXY |

FGHIJ | KLMNO [ PQRST
SECTION-II

INTELLIGENCE TEST

26. In the word ‘ADJECTIVE’ which letter is third to the left of the middle position

letter ?
(h D ) J
3 Vv 4) 1

27.[ABCDE _FGHIJ KLMNO PQRST UVWXY |

In the given letters series, what is the position of the letter from start which is
fourth to the left of the letter which is tenth from the right side of the series.

(n 19 2) 12
3) 20 4 6

28. How many total vowels are there in the given sentence ?

‘Rupa gave letter to Ram.’

(1 5
3) 8

3
9

—_ o~
o v
- -~

Nc._w. 2,7,1,0,5 6.6,4.3,.6, 1,7 3,3, 2

In the given number scries, what is the difference between the square of the
number which is 6th from left and which is 7th from right side ?

() 34 2 0
(3 8 4 16

SPACE FOR ROUGH WORK
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SECTION-II

gfgwar =rauit

26, ‘fEm faimorsi®' A wEdEA woAurl AEIE ST

o, «.v
(1) = (2) fa
(3) 4 (4) =

27.]/ABCDE FGHIJ KLMNO POQRST UVWXY |
qitm  auEAda T wgre AR EEEAE g AR A

&:_
e fgaa aia?

(1) 19
(3) 20 (1) 6
28, ‘wfrana, FEAEE, v, g9, TR W TEA UERD S fEd aea?

(1) 4 (2) 3
(3) 8 (4) 9

29.[3,2.7.1,0.5.6.6.4.3,6.1.7.3.3.2 |

(2) 0

(3) 8 (4) 16

FHAT FIUTAET T
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Note for : Q. 30 to Q. 34 : [Find odd man out]

30. (1) Puppet show (2) Television
(3) Computer (4) Cinema
31. (1) May (2) July
(3) June (4) August
32. (1) 2651 (2) 2246
(3) 5324 4) 6215
33. (1) 9338 (2) 7276
(3) 9295 (4)y 4279
4. o ¢ ® & 2% ;
(1) 2) 3) 4)

35. In the given number series, select the correct option to replace the question
mark.

3, 4, 7, 10, 15, 22, 31, ?

(1) 46 (2) 40
(3) 44 4) 42

SPACE FOR ROUGH WORK
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W 30 ¥ 34 WE gEA- MM A GHUR W e,

30. (1) 9geey (2) A
(3) T (4) fam
3. (1) ¥ (2) I
3) s (4) 3
32, (1) 2651 (2) 2246
(3) 5324 (4) 6215
33, (1) 9338 (2) 7276
(3) 9295 (4) 4279
34, © £ 7 : Qm’
(1) 2) 3) )
35. WRie SETiashd Teai=a==a sri=n gt e
3, 4, 7, 10, 15, 22, 31, ?
(1) 46 (2) 40
3) 44 4 42-
ﬂ“ﬂﬂ_ﬁ% T
0102 / Marathi Set-A 11 of 32 P.T.O.
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36. In the given series of figures, select the correct option to replace the question 36, EId hame fafie yeRel #8 AR, @ A SfeEd WAfwRr=A A v
mark. .ﬁ@l&.&mﬂ@%

-
\o

- | .....

(1 ) 3) 4) a) @) 3) )

37. Select the wrong term in the given number series.

37. A SEImiesdd gah 9% Sl
2, 7, 28, 64, 126, 215

2, 7, 28, 64, 126, 215

(1) 28 (2) 64 5 &5 @
S | (3) 215 4) 7
38. Select the correct option to replace the question mark in the given number 38, T WeTlaRa SeASEeN S H fy W @ e
series. : '
i ?
14, 16, 19, 24, 31, 42, 55 ? : W 10 $a Bt 3l 4250 &
(1) 65 @) 72 Q) & @
75 4 J
3) 75 @ 70 3) (4) 7,

SPACE FOR ROUGH WORK

weAT HWEGT Fed
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39.

40.

41.

42.

Select the correct option to replace the question mark in the given groups of
signs.

<>+ X4, >EX+< +X+<> X+<>+?

(1) <>+x+ 2) + x+<>

3 +x<>=+ @ +<>+x

If Deer is called as Rabbit, Rabbit is called as Shekaroo, Shekaroo is called as
Porcupise, Porcupise is called as Tiger, Tiger is called as Bear then which
animal is the state animal ?

(1) Shekaroo (2) Tiger

(3) Rabbit (4) Porcupise

The sum of ages of Mother, Father and Son three years ago was 73. What will
be the sum of their ages five years later ?

(1) 97 2) 75

(3) 78 (4) 88

Anushka's score of marks is more than Aarya but less than Aaboli. Shevanti's
score is same as Aarya but to more than Chameli. Who has scored the highest

marks ?

(1) Aarya (2) Aaboli

(3) Shevanti (4) Anushka

SPACE FOR ROUGH WORK

0102/ Marathi Set-A
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39,

41.

42,

<>+EX4, >ErX+< TX4+<> X+<>+H"7

(1) <>+x+ 2) +x+<>

3) +x<>+ 4) +<>+Xx

(1) & (2) =i

(3) w4 (4) HifeE

aé, aEia, qam aren dHeuiqEten A 909 73 99 g6l 9 9 FuHa o
et st i fed a9 eda?

1y 97 (2) 75

3) 78 (4) 88

ST AEE A T SEEe w0 MR Sed. Yadal SEiEan

U eder W U R AEd, @ Hald S 0 Sionen e Sed?
(1) st (2) 3@t

(3) wrsdt (4) =t

Fedl HIAEET Tad
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43. Akshay said to Aarti ‘your mother's father is my father's father.’ What is the
relation of Akshay with Aarti's mother ?

(1) Son of husband's brother
(2) Uncle
(3) Grandson

(4) Son of husband's sister

44. How many total number of triangles are there in the adjacent figure ?

(1) 14 2) 15
3 10 4) 12

45. In the figure given below how many total number of quadrilaterals are there ?

(1) 9 ) 6
(3) 18 @) 15

SPACE FOR Mocn: WORK
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43, ﬁﬁ%%...ﬁéﬁﬁm%@wﬂgmgmmﬁmﬁﬁ._.ﬂsﬁ

ARG SE= w0 ANl ?
(1) gava
(2) "o

(3) g,
(4) =1

44, TEE SEdA OIS uwRw gen fed o ared

n 14 2) 15
(3) 10 4) 12
45, GEE FAd THU HbEET gem fhRd ee?
m 9 (2) 6
(3) 18 @) 15
FeAl HMMEET e )
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[ABCDE| FGHIJ | KLMNO | PQRST | UVWXY |

Note for Q. 46 and Q. 47 : Select the correct option to match the mirror image W. 46 ¥ 47 QST HET—TeIe WeimHTer WYArRdr=l STendie SfaHl +yit feda o qair
of the question figure. IR AFAE fAfya .
46. Question Figure Answer Figure 46, WAF I Bl
SRE[92] [95 A“mmgme NE e sm I |
(n (2) _ (1 (2) 3) 4
|
47. Question Figure Answer Figure 47. ﬂu_.@lqﬂ

\7%@9 5l \_JWQJ S0 2]y el
\r[5/k \da]e/ NG mj m‘g \r|5/; \g]e/ \&|a @@

ﬁ: ( _ ) (2)
Note for Q. 48 and O 49 : Select the correct option to match the water image ¥ 48 F 49 WE TerTT— mm fociel! SR TUATER It g fd uvaE wiafaa
of the question figure. = 3
4 f@a o IW AFAHYA T,
48. Question Figure Answer Figure _ 48, ; _—
P b \4 A I\Y |
M WM WKW WM P b \ 7 A \4
A b b W p M WM ww WM W
A b b b
1 2 4
(1) (2) (3) (4) (1) (2) (3) (4)
49. stion Fi Ans Fi
Question Figure nswer _om::u 45,
o < 9
—FTIIIIIIIIT
(n (2) (3) 4) (1
SPACE FOR ROUGH WORK : m P
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Note for Q. 50 to Q. 54 : There exists a relation between first and second term,
similar relation holds true for third and fourth term. Accordingly select the correct
option to replace the question mark.

50. Crops : farm : : fruits @ ?

(1) Orchard

(2) Market

{3 Mall (4) Shop
S1. Sparrow : noun : : went ; ?

(1} Pronoun (2) Verb

(3) Noun (4) Adjective

mn
9

A W=
T

(4] (2) (

53.5:12::6:°?
(1) 18 2) 15
(3) 12 @) 21

54, 4396 : 6475 : : 3485 : ?
(1) 4595 (2) 4574
{(3) 5564 4) 4564

SPACE FOR ROUGH WORK
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50 ¥ 54 WA oA—viged] T Ay GHA TERI S A, FHE WAy fawem w2en
oAl R YihE wvAraTen SwiEn @ e

50, 9 : NG :: SS9l : ?

(1) "= (2) .h_ﬂ%

(3) INR (4) HH
51, famuit; = :: Tew : ?

(1) | (2) foamg

(3) T (4) favmm

S.D“Z/Tn L2

(1) 2 (

53. 537 12::6: 7
() 18 (2) 15
3 12 @ 21
54, 4396 : 6475 1 : 3485 : ?

(1) 4595 (2) 4574
(3) 5564 (4 4564

HEAT HHHEGST Fad
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5S. Which of the following action of Raju is correct, when he saw garbage lying
at the place where small children were playing ?

(1) He picked up the garbage and threw it into the dustbin.
(2) He neglected it.

(3) He pushed out all the children from that place.
(4) He purposely tell the security person to pick up the garbage.

Note for Q. 56 and Q. 57 : Select the figure perfectly matching to the question
figure from the given options.

56. Question Figure Answer Figure

DB

(1) (2)

57. Question Figure Answer Figure

(H (2 (3 4)

58. In a row there are 15 girls to the right side of Savita and 11 girls to her left,
if she is standing at the middle then what is her position number ?

(1) 12th (2) 13th
(3) l4th (4) 15th

SPACE FOR ROUGH WORK
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55. SI¥ TEF qO Wed Aed 9 TSeIen HEU UEA T Heiel B FA A wa?
(1) =0 IqeE FaURE Tehal
(2) e et
(3) @& A Tg7 TReE Aed
(4) el TEETERRIEn EEM SIAvAE Fifa

Y. 56 @ 57 WISl YA Wl gwpdrd qddd JEONd S| G e

56.  WYAHA ExiE CTl
¢)) (2) (3) 4
57. W¥Ahdl I ARl

9] (2) (3) 4

58, T Ud Wigarem IsERe 15 Hell 9 TEHe 11 Get I &ed, 9 Ui
T I Sl wiqarEl wHE fhaar?

() 2=
(3) 14

(2) 13=n
(4) 1541

T HIHEST e
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59.

60.

61.

62.

63.

Students are standing for mass P.T. The number of rows and students in one
row is same. If 15 students are standing in each row then what is the total
number of students standing for mass P.T.?

(1) 225 (2) 150
(3) 250 (4) 125

John is standing with his back towards the East. He turns to his right hand two
times at right angle. Which direction is he facing now ?

(1) West (2) South
(3) East (4) North

Ahmed went 18 km'in the west direction, then he went 11.5 km to the south,
then he went 6.5 km to the east, then he went 11.5 km to the north and he
stopped there. At what distance is he from the starting point ?

(1) 11 km (2) 10.5 km
(3) 125 km (4) 11.5 km

Mandar was born on 7th July 2007 Saturday. Which day will it be on his
second birthday ?

(1) Monday
(3) Wednesday

(2) Tuesday
(4) Thursday

In a certain year if 15th August falls on Monday, then in the same year 6th
September will fall on which day ?

(1) Thursday
(3) Tuesday

(2) Monday
(4) Wednesday

SPACE FOR ROUGH WORK
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59.

60,

61.

62,

63,

HHde W AgFede wamdEeen §d qad gen fad?
(1) 225 (2) 150
(3) 250 4) 125

S YAHE WS FEA S o, 9 oAl IWedl AN w3 e fE,
W o= dis woe fayen 4€a?
(1) e
(3) =

(2) =feo
(4) I

ENZ UfY=Hen 18 Rl fem HaX a1 afwvien 11.5 fR e, @Eat gae 6.5 R
el FR I 11.5 fFt wea aiaen @t g2 fommomarga fadl faHT sater
3MeE?

(1) 11 ferit
(3) 12.5 feut

(2) 10.5 fos
(4) 11.5 ot

HeRa1 9 7 & 2007 o WG Fel. o)X el U0 decad v ad 35l
(2) "MZaR

(4) TR

(1) ¥HER

(3) FER

TF U 15 SfTEd 9mar gdl, W e duidd 6 9@al Rl a9’
(1) TFER (2) GHER

(3) HEaR (4) 99

oAl HHMEET W
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Note for Q. 64 to Q. 68 : The term given in cach question have same commaon

characteristic Select the correct option to match the group.

64. Iron, bricks, sand,

(1) Cotton
(3) Thread

65. Brain, Lungs, Hean
(1) Skin

(3) Stomach

6. /TN /]
e/ dw

(2) Coal

(4) Cement

CRAYMADBYAR
NIPANPANEDY

(1) (2)

67. 65, 83, 92
() 54

68. 2520, 6273, 7092
(1) B8ORS

(2) Ears

(4) Eyes
(3) (4)
(2) 87 (3) 47
(2) 2823 (3) 6018

(4) 39

(4) 8127

SPACE FOR ROLGH WORK
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V. 64 W 68 WA Wum- yraren qEavie @4 92t s, et e At
b, TNt Uk Wz aan oA, W v aamn W fdea wataig ffre

65,

67.

68.

2

e, faz, vz

(1) #ra (2) wwzm
(3) wim (4) foiz
0y, HERH, g7
(1) ©1n (2) #1
(3) w21 (4) =2
ke D (g°
’ Xdi -
NarYarvan
() (2) (3) (4)
65, 83, 9
(1) 54 (2) 87 (3) 47
2520, 6273, 7092
(1) BORS (2) 2823 (3) 6018

(4) 39

(4) 8127

T WWEET T
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69. Observe the venn diagram carefully and answer the following questions.

Which of the following number is seen only in the triangle ?

2
3 ﬁ@
5

(n 7 (2) 6 A 5 4) 4

~

70. Identify the correct option to replace the question mark in the given pattern,

)
™A

(1) 42 (2) 32 3) 12 (4) 22

71. In a certain code language if 62 = 14, 47 = 15, 95

23 then 38 =7
(1) 11 (2) 14 (3) 36 4) 8

72. In a centain code language if 6 = 14, 7 = 17 and 3 = 5 then 4 = ?
(1 4 (2) 6

3) 2 4) 8

SPACE FOR ROUGH WORK
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69. I AFR Fefgds Te TN IR Tty e
TH T smm aiw womn

2
3 ﬁa
5

(1 7 )6 3)5 4) 4

70. Y¥HAeom WM Avr d@erer gatg v 9 fas
(1) 42 (2) 32 (3) 12 (4) 22

71. T Gihfdd 90T 62 = 14, 47 = 15, 95 = 23 @ 38 = fhdl?
(1) 11 (2) 14 3) 36 4) 8

72, TH Aidhfads WU 6 = 14, 7 = 1793 = 5 @ 4 = fdl?
(1 4 2) 6
(3) 2 (4) 8

HoAl FHETHET o
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73.

74.

75.

In 4 certain code language if CAP = DO ®, CAT = O®HE, PAN = AODO
then TAN =72

M gae (2) oo

G eam 4 A00®

In a certain code language if KMD = <> v, KNM=A>< NKD =v A >
then MND = ?

[Note : The signs and alphabets may not be in the same order.]
)y Av> 2) A<>
3) Avc< 4) ><v

Teacher appeals to all students that as the yearly inspection is near all have to
complete their assignment note books. Your assignment note book is completed,

but you know that, one slow learner student of class has not completed his
assignment note book. what will you do ?

(1) T will tell my bench partner to give his assignment note book to that slow
learner.

(2) T will help him to complete his assignment note book.
(3) T will not give my assignment note book to any one.

{4) T will tell the teacher that he misplaces the note books.
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73.

74.

75.

TH WHTF 9 'FHe’ = 00 ‘' = OO0 ‘Fed’ = AOD T
= | darAa?

(-9 9 oy @0 o s 3/ @)

() oaoe 2y gmo

3 oAl 4 A006

TH HHAR 909 ‘FHS = <> v FIH = A>< THES = VA > B A THES
T 54 fa=m?

(- @15 9 fo=ia &9 9@ ofad o9 el

(1) Av> (2) A<>

3) Avc 4) ><v

el d oR. gaE weTged qof oA anidial Wl ang faaeatsh
EEEE Ul e, € AU HRd e, Rl $1d S’

(1) wrEE YeEEeEa fave @R EWeEEed e wiE
(2) di Tt SRt Ul Hae Hed A

(3) wE WeEeEl HUIEEl R -

(4) & foenefl =&t eEaL o) foew @A

FoAl HIWTATS) Thad
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